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Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the

Optical Answer Sheet. (20 marks})

1. 29 758 = 20 0G0 + 9000 + +50+8

What is the missing number in the box?

(1)
()
(3)
(4)

70
700.
7000

2, Which of the following has the same value as 6.01 kg?

(1)
()
(3)
4

6001 g
6kg10g
6kg 1009
60100 ¢

3. The figure below Is made up of 9 identical squares,
What fraction of the figure is not shaded?

(1)

()

(3)

4

;lﬂ ©IN ©iwm

18
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4. Study the square grid below.

Which fine in the square grid is perpendicutar to BC?

(1
@
3
4

MA J PG/ Prelis 1 2023

BF
EF
AB
BE

N

Sa

/ N
|
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The bar graph below shows the number of members in a filness club from 2018 to 2022.
Study the graph and answer questions 5 and 6.

Fitness Club Membership

1200

e = o e e e e e A e A e RS e g e A S e e e W e e e

900 "

Number of
members

600 {

300 +

2018 2019 2020

Year

5. How many members were thers in 20207

(1) 630
(2) 650
(3) 700
(4 750

6. Between which 2 years was there more than 100% increase in membership?

(1) 2018 and 2019
(2) 2019and 2020
(3) 2020 and 2021
(4) 2021 and 2022

MA / P6 | Prefims / 2023 Page 3of 7 (Go on to the next page)
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(M
(2)
()
@

M
)
3)
4

3
Express 2 17 @s 8 decimal.

23
214
2.25
2.312

What is the height of the teacher's table in the classroom?

8 cm
8m
80 cm
80 m

Each figure is made up of some identical squares.

A B C

Which of the figure(s) has/have exactif3d lines of symmetry?

(1)
)
(3
(4)

8 only

A and B only
B and C only
A BandC

MA / P6 { Prelims / 2023 Page 4 of 7 {Go on to the next page)
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The average of 4 numbers is 34. The sum of the first 3 numbers is 108,

10.
What is the fourth number?

(1 28
2) 2

@)
@ T4

11. Thisis a net of a solid.

Which of the following solids will this net form?

(M @) (3) (@)

MA / P8 / Preiims / 2023 PageSof 7
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12.  Arrange the foliowing fractions fr~m the ornatest 1 1he smallast

greatest

)
(2) "
(3)

4)

~ O

13.  Dave and Ranjit took part in
After 40 min, Ranjit had com

3
1

2o

;‘,‘m ~Nlo

2le

~lo
Sle

smaliest

:"m ~NI®

;J‘Im ~lo

a race. Both boys started running at the same time.

pleted the race but Dave had another 800 m to

complete the race. Ranjit ran at an average speed of 80 m/min. What was Dave’s

average speed?

(1) 20 m/min
(2) 60 m/min
(3) 80 m/min
(4) 100 m/min

MA/ P8/ Prelims / 2023
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14. There were some red and green pens in box X and box Y. There were 90 more pens
in box Y than box X, The number of red pens in box Y was 30 mare than the number

of red pens in box X. In box X, there were 25 more green pans than red pens.
How many more green pens than red pens wera there in box Y?

M
2)
&)
“

35
55
75
95

15.  Jamie and lan had some marbles. Jamie had 120 fewer marbles than lan. After

lan gave % of his marbles to Jamie, Jamie had 24 more marbles than lan. How
many marbles did lan have at first?

(1) 144
(2) 216
(3) 264
(4 336
MA P8/ Prelims / 2023
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Quastions 16 to 20 carry 1 mark each. Write your answers in the spaces provided.

For questions which raquire units, give your answers in the units stated. (5 marks)

3
16.  Express > as a decimal, Give your answer correct to 2 decimal places.

Answer:

17. Find the value of 408 x 15,

Answer:

18. PQR is an equilateral triangle. Find £Lw.

Answer:

SCORE

MA,/ PB/ Prelim/ 2023 Page 1 of 8 {Go on to the next page)

BP~697




BP~698

Do not writ
19. Find the value of 42.18 + 60, in this spac

Answer:

20. Peter started work at 10.30 a.m. and ended work at 6,15 p.m.
How long did he work? Give your answer in hours and minutes.

Answer: h min

SCORE

MA /P8 { Prefim{ 2023 Page 2 of 8 (Go on to the next page)



Questions 21 to 30 carry 2 marks sach. Show your working clearly and write your answers
in the spaces provided. For questions which require units, give your answers in the units

stated. (20 marks)
21.  (a)  Whatis the missing number in the box?
21:18 =1 7 |12
Answer: (a)
4
(b)  There are 5 as many male workers as female workers in a factory.
What is the ratio of the number of female workers to the total number of
workers in the factory?
Answer: (b)
22. (a) Simplify the expression 25 + 9k + 8 - 4k .
Answer: (a)
(b) Find the value of 4y~ 7 when y = 6,

Answer: {b)

SCORE

MA 1 P8/ Prelim / 2023 Page 30f 8 {Go on to the next page)
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' Do not writ
23.  The usual price of a watch was $800, During a sale, the walch was selling at $560. | i this spac
What was the parcentage discount given?

Answer: %

24, In the given square grid below,

(a) draw a trapezium ABCD where AD s twice the length of BC.
Line AB and BC are given.

(b)  draw a triangle ABE where ZBAE = 90° and AB = AE. Line AB is given.

SCORE

MA / P8/ Prelim / 2023 Page 4 of 6 {Go on to the next page)
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25.  Inthe figure below, QRST is a rhombus. QVS Is a straight line. 301 ’:::s:gg
LTUV = 46° and ZRQV = 20° 5 ¢
Q
Find £QVU.
Answer; °
SCORE
MA/ P8 / Prelim ] 2023 Page 5 of 8
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26.  The table below shows the rales of charges for water consumption in a month.

First 20 m® $1.50 per m?
| Additional amount
above 20 m? $2.00 per m*

Mr Smith used 43 m? of water, How much did he pay?

Answer: §

9
27. — m of ribbon is cut into shorter pieces.

10

1 .
Each shorter piece of ribbon measures y m except for the last piece.
What is the length of the last piece of ribbon?

Express your answer as a fraction in its simplest form.

Answer: m

Do not writ
in this spac

MA / PG/ Prolim 1 2023
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28.  Toni bought 52 cookles and 78 cupcakes for his neighbours. He divided the o m"g’;;gg
cookies and cupcakes equally among the neighbours. What was the greatest
possible number of neighbours he had?

Answer:

29. The figure below is made up of a rectangle WUVY and a square WXYZ. The length
of WZ is 8 cm. What is the area of the whole figure?

U

2
x

8cm ||

N
<

Answer: cm?

SCORE

MA | P8/ Prelim{ 2023 Page 7 of 8 {Go on to the next pags)
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Do not writ
30.  The bar graph shows the number of students in the four CCAs, Brownies, Scouts, in s spac
Volleyball and Basketball. The number of students in the four CCAs is not shown
on the scale. The bar graph for the number of students in Brownies CCA has not

2
been drawn. 5 of the students are from Basketball and Volleyball CCAs.

’ ’
' 3 +
b e e o o o o m B e e e e o i e o e o e e - oA
4 i
t ¥ 1 i
1 4 + H
i 1
:

Brownies

Scouts

AR naa b bat DR AT R S e

D N R s LT T PRt pR U

Volieyball

csnnunn

Basketball

fkoreansvnarrensavaqeones

hansenswacesn

o
A

Each statement below 1s either true, false or not possible to tell from the
information given. For each statement, put a (¥) in the correct column.

Not

Statement True False possible 1@
tell

There are 40 more students in basketball
CCA than in volleyball CCA.

The number of students in scouts and
volleyball CCAs is equal to the number
of students in brownles CCA,

End of Paper

SCORE

MA / P8/ Pretim / 2023 Page 80of8
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Questions 1 to 5 carry 2 marks each. Show your working clearly and write your answers
in the spaces provided. For questions which require units, give your answers in the units

stated. (10 marks)
., , . ‘0 © not ry,
1. Jim'’s savings for 5 months were shown in the table below. " 1S S0aeg
Month January | February March April May
Savings ($) 35 28 0 51 33

What was the average amount of money Jim saved from January to May?

Answer: $

2. In the figure below, EH is a straight line. FH = HG = 12 cm. EF = 20 cm and
EH = 16 em. Find the area of the triangle EFG.

Answer: cm?

SCORE

MA 7 P8 / Prelim / 2023 Page 1 0f 16 {Go on to the next page)
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3. Nancy left her house at 6.55 a.m. to the school, which was 1235 m away.
She walked at an average speed of 95 m/min. At what time did she reach the
school? Leave your answer in 24-hour clock.

Do not write
in this space

Answer :

4 The figure below is made up of two identical squares, ABCD and GJKH, and
2 identical rectangles, EFDA and BCHG. The perimeter of EBCF is 56 cm and the
perimeter of AJKD is 72 cm.

B G J

F o C H = K

What is the area of square ABCD?

Answer: om?

SCORE

MA /P67 Prelim / 2023 Page 20t 16 {Go on to the next page)



(a) Fang Min glued sight 1-cm cubes to form the salid below, She painted the
whole solid, including the base. What was the total painted area?

Answer: (a) cm?

(b) Bala is asked to build a solid figure using some unit cubes. The front, side
and top views of the solid figure to be built are shown below.

Front view Side view Top view

What is the least number of unit cubes Bala needs to build the solid
figure?

Answer: (b)

SCORE

MA / P6 / Prelim / 2023 Page 3 of 16 (Go on to the next page)
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For questions 6 to 17, show your working clearly and write your answers in the spaces Do not wite
provided. The number of marks availabla is shown In brackets [ ] at the end of each in this space

question or pari-question. (45 marks)

6. The figure Is made up of triangle ADG and triangle JKL. AG // JK and AD = DG.

(a) Find £p.
Answer : (a) 1]
{b) Find £4.
Answer : (b) {21
SCORE

MA.{ P&/ Pralim 1 2023 Page 4 of 16 {Go-on to the next page)
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Do not «
in this s;:g:

A rectangular lank contained some water at first. A tap was then turned on to fill
the tank complelely with watar. The tap was turned off at the end of 48 minutes.
The graph below shows the amount of water in the tank at the end of 48 minutes.

7.
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120
) oo
100

80

60

Voluma of

water (¢)

i

48

40

32

}

}

+

16

Time (min)

In a minute, how many litres of water flowed from the tap?

(a)

n

Answer: (a)

end of 48

How many litres of water overflowed from the tank at the

minutes?

(b)

2]

Answer: (b)

SCORE

{Go on to the next page)
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8.

The figure is made up of 2 identical kriangles and 2 identical squares. The
perimeter of the figurs is (4q + 36) cm, The perimeter of a square is 36 cm.

B
A/ N_c NE

(a) Find the perimeter of a triangle ABC in terms of q.

Do not write
in this space

Answer : (a) 21
(b)  The perimeter of the figure is 48 cm. What is the value of q?
Answer : (b) )]
SCORE
MA [ P6/ Pralim / 2023 Page 6 of 16 (Go on to the next page)
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8. (a) The figures below are drawn on a square grid.

(i Which 2 figures have the same area?

Answer : (i) Figure and Figure [1]

(i) Which 2 figures have the same perimeter?

Answer : (i) Figure and Figure____ [1]

‘MA P8 / Prelim / 2023 Page 7 of 16

SCORE

{Go on to the next page)
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9. (b)) Inthefigure, a reclangular piece of paper WXYZ is folded at two of its Do ot wile
comers X and Y as shown. in this spaca

Find Za.

Answer : (b) 12]

SCORE

MA / P87 Prelim / 2023 Page 8 of 16 (Go on to the nextpage)
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10.  Inthe pie chart, half of the fruifs In the supermarket are mangoes. The number of
pears is % he number of mangoes. in m";"s;‘c:

Fruits in Supsrmarket

Mangoes

(@)  There are 72 more mangoes than pears. How many mangoes are there?

Answer: (a) 2

(b)  What fraction of the fruits in the supermarket are oranges?
Express your answer in the simplest form.

Answer: (b) [

SCORE

MA / P67 Prelim / 2023 Page 9 of 16

{Go on to the next page)




11. In the figure below, ABCD Is a reclangle. The points E and F lie on the rectangle
ABCD. £DFE =105°, £EAC = 32° and £BCE = 50°

A E B
32°
~
/
§
500
105°
H 5
D F C

(@) Find ZECA.

BP-716

Do not write
In this space

Answer : (a) 2
(b) Find £FEC.
Answer : (b) i2)
SCORE

MA/ P8/ Prelim { 2023 Page 10 of 16 (Go on to the next page)
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12. The figure below Is made up of 2 identical big semi-circles and 3 identical small
semi-circles. g"w{‘:&

v

it
- -

-
[

120 cm

I
1
|
!
{

(a)  Find the perimeter of the shaded figure,
(Take 7 = 3.14)

Answer: (a) [3]

(b)  Find the total area of the shaded parts.
(Take m = 3.14)

Answer: (b) ¥4]

SCORE
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13. Mrs Su baked soma cheese muffing and raspberry muffins. She sdid 3;’- of the

2 8
cheese muffins and 5 of the raspberry muffins. m of the muffins left were cheese

muffins. Mrs St sold a total of 760 muffins.

(a) What fraction of the muffins were sold?

Answer: (a) 1
{(b)  How many muffins did Mrs Su bake?
Answer: (b) 3!
SCOR
{Go on to the next page)

MA / P8 Prefim / 2023 Page 12 of 18
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14, Mrs Yong had some red apples and green apples. 60% of the apples were rog
apples and the rest were grean apples. There were 192 more red apples than
green apples. After Mrs Yong sold some red apples, the percentage of red appleg
she had left became 26%. How many red apples did Mrs Yong sell?

Answer: (4]

SCORE

MA/ P8 / Prelim/ 2023 Pege 3 0of 16 " {Go un {o the next page)
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1
15. At first, Tank A was completely filled with water and Tank B was z filled with ng”r:'sp “;'::

waler,

Fred turned on both faps X and Y at the same time. Water flowed out from Tank A
and water flowed into Tank B al the same rate of 6 litres per minuté

After a while, Fred turned off both laps when the heights of the water levels in both
tanks were the same.

56 cm

80 cm 50 cm
Tank A Tank B

What was the height of the water level in Tank A in the end?

Answer: 4

SCORE

MA / P8 / Prelim [ 2023 Page 14 of 16 {Go on to the next page)



The figure below is made up of a rectangle and a square. The ratio of the area of

BP~721

16.

the rectangle to the area of the square is 11: 8. The ratio of the unshaded area of %’ﬁ:}ot
the rectangie to the area of the unshaded area of the square is 5: 3. The length oS
of the square is 12 cm.

4

8 12cm

4

What is the area of the shaded part?
Answer: [3]
SCORE

via ' F8 / Prelim/ 2823 Page 15 of 16 (Go on to the next page)
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Janelle used grey and white squares to make figures below that follow a patter. . o, ot write
The first 6 figures are shown. in this space

&ﬁjhhhh}

Figure 1 Figure 2 Figure 3 Figure 4 Figure 5 Figure 6
L
\

She recorded the number of grey and white squares.

Number of grey
e+ squares

2
2 6
6
6
12
12

(a)  What was the total number of squares in Figure 157

Answer: (@) {2

(b)  How many grey squares were there in Figure 527

Answer: (b) [2]

End of Paper
SCORE

MA / P6 / Prelim / 2023 Page 16 of 16



1 2 3 4 5 6 7 8 9 10
3 2 4 | 4 1 3 3 2
11 12 13 14 15 16 17 i8 19 20
3 4 2 2 2 0.43 6120 190 0.703 7h45min
21 22 23 24 25 26 27 28 29 30
14 5k+33 30% 26 $76.00 | 320m 26 96cm2 | Npu
39 17 degree True
Paper 2:

1. $2940

2. 24 em2

3. 0708

4. 64cm2

5. (a)32cm2 ()7

6. (a)65degree  (b) 115 degree

7. (@375L (b) 90 L

8 (@9+2¢)em (b)3

9. (a) (1) Figure B and Figure C (i1) Figure A and Figure D

(®) 60 degree

10. (a) 108 b)l/12

11, (a) 8 degree (b) 65 degree

12. (3) 359.7em (b) 2472.75cm2

13. (a) 1/19 (b)1805

14. 448

15. 36em

16. 63cm?2

17. (a) 136 (b) 702
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